
d' cancels out of all steady state 
equations (except ID )
The steady state equations for ID
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T (the only equations in which d ' appears)
are:
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It is clear that d ' appears in the numerator in VT
êêêêê  and Vêêê  equations and in the denominator in

the ID
êêêê  equation. Thus, d ' cancels out of the term d' ID

êêêê .
So, d '  appears only in the steady state equations for ID and not in the VT

êêêêê  or Vêêê  equations.
Furthermore, since ID does not explicitly appear in any other equations we can be assured 
that d '  does not appear in the steady states on any other equation in Eqs. 1-6.
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